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QUESTION 1

How can a user determine if the IBM Notes Traveler server is available from their mobile device?
A. Check the HTTP Sync protocol.

B. Check the Notes Traveler Sync protocol.

C. Use the Check Traveler tool to test the connection.

D. Access the Notes Traveler homepage using a browser on the device.

Correct Answer: D

QUESTION 2

The IBM Notes Traveler statistic DeviceSync.Count.500 reports what information?
A. number of failed device syncs

B. number of successful device syncs

C. number of allowed current device syncs

D. number of of device syncs by Apple devices

Correct Answer: A

QUESTION 3

How is an IBM Notes Traveler Availability Index of -50 interpreted in the web administration interface?
A. The server is not running.

B. The server is running and 50% available.

C. The server is running, but can accept no new work.

D. The server is running but constrained, and new syncs are not allowed.

Correct Answer: D

QUESTION 4
Which conditions apply when configuring IBM Notes Traveler 9.0 to support a disaster recovery implementation?
A. Microsoft SQL Server cannot be used.

B. At least one Notes Traveler server must be installed in a separate data center.
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C. Notes Traveler 9.0 and the IBM Domino mail servers have to be running Domino 9.0.
D. IBM DB2 Q replication must be used in order to guarantee the fidelity of the transactions.

Correct Answer: B

QUESTION 5

Tom attempted to install IBM Notes Traveler 9.0 on a IBM Domino server, and it failed.

Where can Tom find details of the install failure?

A. the Travelerinstall.log file located on the workstation running the installer

B. the Install.log file located in the target Domino server\\'s IBM_TECHNICAL_SUPPORT\traveler\logs directory

C. the TravelerInstall.log file located in the target Domino server\\'s IBM_TECHNICAL_SUPPORT\traveler\logs
directory

D. the client installer PC tmp directory if installing to a Windows or Linux server or the System tmp directory if installing
on IBM i

Correct Answer: C
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